填充題
1. 9600公畝=(       )公頃=(       )平方公里=(     )平方公尺
2.  12.096公噸=(       )公噸(       )公斤
           =(        )公斤
3. [bookmark: _GoBack] 27600公斤=(        )公噸
4. 4800000平方公尺=(             )公頃=(           )平方公里
5. 15公噸80公斤=(           )公噸
6. 1500公升=(        )立方公尺=(         )公秉
7. 60000立方公分=(        )公升=(        )公秉
8. 60.02公秉=(       )公秉(        )公升=(          )公升
9. 62 X =3906     X÷3=(        ) 

10.  800-Y=637   9516÷Z=39    Y-Z=(        )    


11. 把分數換算成百分率,小數換成百分率,百分率換成小數
7/8= (        )
12/16=(       )
0.708=(       )
0.6％=(       )
45％= (       )
